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ES-211 : TEACHING-LEARNING IN PRIMARY 
SCHOOLS 

Time : 3 Hours] 	 [Maximum Weightage : 70% 

Note : (i) All questions are compulsory. 

(ii) All questions carry equal weightage. 

1. Answer the following question in about 600 words. 
Differentiate between behaviourist and cognitivist 
approaches to learning. Discuss how do these approaches 
help in designing different learning activities. 

OR 
Discuss various teaching-learning strategies that you can 
adopt to teach primary children in multi-grade situations. 

2. Answer the following question in about 600 words. 
Explain the meaning of and need for cooperative 
learning. Discuss with examples. How you can organize 
cooperative learning at primary levels? 

OR 
How can you diagnose the learning difficulties of 
children in your class? Suggest remedial steps you would 
take to overcome learning difficulties of children. 
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3. Answer any four of the following questions in about 
150 words each. 

a) Describe different ways children learn at primary 
level. 

b) Mention advantages and limitations of peer 
tutoring. 

c) Differentiate between reasoning questions and 
creating questions with examples. 

d) State various functions of communication. 

e) Illustrate, with examples how you can encourage 
students participation in teaching-learning process. 

f) Explain the concept of pupils evaluation. 

4. Answer the following question in about 600 words. 

Identify a learning activity outside the classroom to be 
performed by your students. Describe the criteria you 
will follow while selecting the activity and steps you will 
follow while organising the activity. 
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